MUNICIPAL CORPORATION KOTA

(NIT NO. 17/2017-18) ('G' Schedule) (Copy No. 05)

Name of Work : वार्ड नं. 43 में विभिन्न स्थानों पर नाली पटान सी सी लोहें के चेम्बर

इन्टरलोकिंग टीन शेड निर्माण कार्य।

Estimated Cost : Rs. 10.64 Laces Earnest Money : 5320/- (0.50%)

21280/- (2%)

Tender Cost : 1500/- Completion Period : 2 Month

Processing Fees : 500/-

Date of Sale of Tender : 16-05-2017 to 07-06-2017

Date of Receipt Tender : 16-05-2017 to 07-06-2017 (Office Time)

Date of Opening Tender : 08-06-2017 (2.00 PM) (Envelop – A)

Date of Opening Tender : तकनीकी बिड परीक्षण के पश्चात्।

Issued To:	
C.R.No	_Dated

PART - A

S.NO	Particulars	Qty.	Rate	Amount
1	Silt clearance of drains, channel and canals with	50.00	48.00	2400.00
	lift 1.5 Mtr. and lead up to 50 Mtr.	Cum	P.cum	
2	Earth Work in excavation in foundation trenches	150.00	152.00	22800.00
	or drains including dressing of sides and ramming of bottoms, lift upto 1.5 mtr. including	Cum	P.cum	
	taking out the excavated soil and depositing and			
	refilling of jhiri with watering and ramming and			
	disposal of surplus excavated soil as directed within a lead of 50mtr. All kinds of soil			
3	Dismantling stone slab flooring laid in cement	150.00	43.00	6450.00
	mortar including stacking of serviceable material and disposal of unserviceable material within 50	Sqm	P.sqm	
	mtr. lead.			
4	Demolishing cement concrete including disposal	15.00	388.00	5820.00
	of material within 50 meters lead : 1:3:6 richer mix.	Cum	P.cum	
5	Dismantling stone slab roofing over wooden	1.50	426.00	639.00
	karries and battens (dismantling karries and	Cum	P.cum	
	battens to be paid for separately) including stacking of serviceable material and disposal of			
	unserviceable material with in 50 meters lead.			
6	Dismantling old plaster or skirting raking out	150.00	6.50	975.00
	joints and cleaning the surface for plaster including disposal of rubbish to the dumping	Sqm	P.sqm	
	ground with in 50 meter lead.			
7	Transportation of excavation of earth from site	200.00	90.90	18180.00
	with loading and unloading etc. complete with all lead and lift. Lead 1 km	Cum	P.cum	
8	providing and laying in position including	15.00	2284.00	34260.00
	curing, compaction etc. complete in	Cum	Cum	
	specified grade excluding the cost of			

	centering and shuttering – All work up to plinth level. cement concrete (1:5:10)			
	1:1.5:3 (1 cement: 1.5 coarse sand: 3 graded stone aggregate 20 mm nominal size)	100.00 Cum	3711.00 P.cum	371100.00
	1 : 4 : 8 (1 cement : 4 coarse sand : 8 graded stone aggregate 40mm nominal size).	60.00 Cum	2497.00 P.cum	149820.00
9	Random Rubble stone masonry for foundation and plinth in cement Sand mortar above 30 cm thick wall in : Cement Mortar 1 : 6 (1- Cement : 6 Sand)	38.00 Cum	2014.00 P.cum	76532.00
10	Flyash Brick masonry in foundation and plinth with bricks of class designation 75 in : Cement mortar 1:6 (1 cement : 6	5.02 Cum	2696.00 P.cum	13533.92
11	Supplying and fixing of stone linted / bed plats of approved quarry rough dressed in cement mortar 1:4. upto 15 cm thick.	0.75 Cum	11490.00 P.cum	8617.50
12	Plaster on new surface on walls in cement sand mortar 1 : 4 including racking of joints etc. complete fine finish. 20 mm thick	200.00 Sqm	120.00 P.sqm	24000.00
13	Providing and laying damp proof with cement concrete grade M-15 (1:2:4) mortar prepared with 15 solution of water proof compound including including two coats of hot blown bitumen (2 kg. per sqm0 complete as per specification with glass strip 3 mm thick at a distance of 1 m interval. 50 mm thick	90.00 Sqm	115.00 P.sqm	10350.00
14	Providing and laying of interlocking Concrete Block Pavements having thickness 80 mm as per drawing and technical specification clause 1504	80.00 Sqm	643.04 P.sqm	51443.20
15	Rough chisel dressed stone flooring over 20mm (AV.) thick base in CM 1: 6 including pointing with cement mortar 1: 2 (1 cement: 2 stone dust) with and admixture of pigment to match the shade of stone with joint thickness upto 15 mm: 35 mm thick red sand stone. New work	300.00 Sqm	360.00 P.sqm	108000.00
16	Structural steel work welded in built up sections, trusses and framed work including cutting, hosting fixing in position and applying a priming coat of approved steel primer all complete above plinth level upto 4.5 mtr height in R.S. joist flats, tees, angles and channels.	500.00 Kg.	68.00 P.Kg,	34000.00
17	Providing and fixing Ist quality white / Ivory Glazed Tiles ISI marked (1S: 13753) of size 300mm x 200mm in walls, floors, steps, pillars, etc. laid on a bed of neat cement slurry finished with flush	20.00 Sqm	563.00 P.sqm	11260.00

	pointing in white cement mixed with			
	pigment to match the shade of tile			
	complete (excluding the cost of cement			
	plaster) Category – II Bell, Thar make etc.			
18	Providing Corrugated G.I. Sheet roofing	35.00	768.00	26880.00
	fixed with G.I.J. or L-hooks bolts and nuts	Sqm	P.sqm	
	8mm diameter with bitumen and G.I. limpet	1	1	
	washers or with G.I. limpet washers filled			
	with white lead and including a coat of			
	approved paint of over lapping of sheet			
	complete (upto a pitch of 60°) and excluding			
	the cost of purloins, rafters and trusses, for			
	class of sheets: 1 mm thick.			
19	Providing and fixing steel gate grating and	500.00	78.00	39000.00
	grills made of angles, tees, square bars or	kg.	P.Kg.	
	other flats black pipe with holdfast and fittings complete as per design and			
	drawing including cutting welding and			
	fabrication with priming coat or red oxide.			
20	Distempering with oil bound washable	30.00	52.00	1560.00
	distemper of approved brand and	Sqm	P.sqm	
	manufacture to give an even shade including	1	•	
	all scaffolding :			
	(a) New work (two or more coats) over and			
	including scrapping and priming coat			
	with cement primer.			
		20.00	17.00	340.00
	(b) Old work (one or more coats) including	Sqm	P.sqm	310.00
	scrapping surface and necessary repairs	Sqiii	r .sqiii	
21	Painting with enamel paint of approved			
	brand and manufacture to give an even			
	Two or more coats on new work	30.00	46.00	1380.00
	TWO OF ITIONE COALS OF THEW WORK	Sqm	P.sqm	
	one or more coats on old work	20.00	30.00	600.00
		Sqm	P.sqm	
22	Polished Blue Kota stone flooring skirting	27.00	528.00	14256.00
	laid over 20mm thick base of CM 1 : 4	Sqm	P.sqm	
	and jointed with grey cement slurry to		_	
	mach the shade of the slab including			
	rubbing and polishing complete. For area			
	of each slab upto 901 to 2000 sq.Cm. 30			
22	mm thick slab. 30 mm thick slab	22.00	01.00	2002.00
23	Centering and shuttering with plywood or steel sheets including strutting , propping,	22.00	91.00	2002.00
	bracing both ways and removal of	Sqm	P.sqm	
	formwork for foundations in			
	baseess)ments rafts, footings, strap			
	beams, bases of columns etc. upto plinth			
2.4	level.	7.00	4027.00	20100.00
24	Providing and laying in position specified grade of reinforced cement concrete	7.00	4027.00	28189.00
	including curing compaction finishing	Cum	P.cum	
	with rendering in cement sand mortar 1 :			
	3 (1 cement : 3 coarse sand) and making			
	good the joints excluding the cost of			

centering, shuttering and rein for cement all work up to plinth level 1 : 1.5 : 3 (1cement : 1.5 coarse sand : 3 graded store aggregate 20 mm nominal size		
TOTAL		1064387.62

Say Rs. 10.64 Lacs

Terms & Conditions:

- 1. Conditional tender shall not be accepted.
- 2. In case of any error in rates or nomenclature, the same shall be paid as per B.S.R. of P.W.D. 2013.
- 3. निविदा दर बी.एस.आर. से कम होने पर अन्तर राशि की बैंक गारन्टी / डी. डी. विभाग में टेण्डर स्वीकृत होने के 15 दिवस के अन्दर—अन्दर जमा कराना होगा, अन्यथा धरोहर राशि जब्त की जाकर निविदा निरस्त कर दी जावेगी।

I / We hereby agree to execute the work : At the rate	% above/below (in words)
At the rate	% above/below (in Figures)

Signature of Contractor

Executive Engineer Municipal Corporation, Kota

<u>-प्रारूप-</u> (लेटरहेड)

सहमति-पत्र

श्रीमान अधिशाषी अभियन्ता,

नगर निगम कोटा।

विषय :		अपनी निविदा हेतु सहमति के संबंध में।
प्रसंग :		निविदा क्रमांक
महोदय,		
		विषयान्तर्गत निवेदन है कि मैं सत्यनिष्ठा पूर्वक अपनी निम्न सहमति प्रस्तुत करता हूँ :-
	1)	निविदा प्रपत्र पर मेरे स्वयं के हस्ताक्षर है।
	2)	निविदा दर स्वयं मेरे द्वारा भरी गई है।
	3)	मेरे द्वारा प्रस्तुत रजिस्ट्रेशन मेरा स्वयं का है एवम् पूर्णतया वैध है।
	4)	कार्य मेरे द्वारा ही सम्पादित किया जायेगा एवं इसे Sublet नहीं किया जायेगा।
	5)	किसी भी प्रकार की गलत जानकारी के लिये में स्वयं उत्तरदायी रहूँगा।
	दिनांक :	(हस्ताक्षर संवेदक मय सील)